3 BAGo A Bol

@ AAPAA
@ AAo|HA|

Aoy A7 3 7R

@ AW

® AHolAHmA



O YAIET FolA A =7 Z2] o] A2?

O A7, dEd, 7
@ N5, A5
@ 7, d=d, 97l

@ F, 747, AEEA
®

QW 7w AAImA



djo]7k 27em? 013, 5017k 6em §1 277]%50] H ]2

® 159cm? @ 160cm? ® 161lcm?

@ 162cm?3 ® 163cm?



A

ot
=

ﬂmo

®



(7h) AA ol

st

(W) F 2Ho] A=

(th) @w o] mopo] AfrtelZolct.



HA e M= E 5 gle A7

o




471

@

B

@ "3t



O 84cm? @ 88cm? ® 92cm?

@ 96cm?2 ® 108cm?



dﬂliﬂ 7H—’F%e, Hef s g el

@ HAo|HA
G AAHA|

ok



@ A

@ AAlo|HA|

@ AsHA

B AolAlHA]

O

T



11. o= oAl b= T oldH == 142 1,
A71E YA=F A7




12, ohg 10 2e BUEES A4 12
AN QARG EL vhEA A 222
!
-l o

Y715 HF] dA=Folt.

72 E7 Hl fE B dAEg el

727l fE T HeFe] dA =g ol
2 FHE Slotei® AZ3 mefolrh.

B = = Qotai2 A5l moFo|t).

@@@@@






32 A4 1 & 202 ool 1 54 AAA LolAE A
592 S5 Byt HHoR P 1, Yol
!
Nl b

D 40+ 8n @ 40+ 167 @ 80+ 8«

@ 80 4 16 B 80 4 64



the o] A2HzhE ABC o 4
PolA YA=FL 905 =
51, BC & 3.2 510l 1 59414 9012 2
She BEoR WHe w Yol S s, et T ul,§, 5, 7

D 1:1 ® 2:1 B 1:2 @ 2:3 B 4:3



e Ede A4 2 o= shel 3 vl l
A YA LY Do FPQl Ho = T
sk o, Wolzt A7t == g vk _sem
o] Zoli? sent /N
! 6cm
2cm /
~~6em-”

@D 2cm @ 3cm ® 4cm @ 5cm ® 6cm



17. ©he 7T 2o Qmo] AL oA HajzZe] FA4]
Z}o] 2717k 90° & W, W] o] &?

@D 4r @ 8r ® 167 @ 247 ® 327



s]A oI,

|
2






@D lem @ 2em 3) 3cm @ 4cm 3 5cm



